Proposal: When frequency hopping is enabled for PUSCH, down select from the following two alternatives to split encoded UCI bits between two PUSCH hops
Alternative 1:
· When frequency hopping is enabled for PUSCH, if HARQ-ACK and CSI part 1 (without CSI part 2) are multiplexed on PUSCH without UL-SCH, the following equation is applied to split HARQ-ACK and CSI part 1 encoded bits between two PUSCH hops
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· When frequency hopping is enabled for PUSCH, if HARQ-ACK, CSI part 1, and CSI part 2 are multiplexed on PUSCH without UL-SCH, the following equation is applied to split HARQ-ACK, CSI part 1, and CSI part 2 encoded bits between two PUSCH hops
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If HARQ-ACK payload <= 2bits
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If HARQ-ACK payload > 2bits
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where M1 and M2 is the numbers of available REs for 1st frequency hop and 2nd frequency hop, respectively, i.e., [image: image13.png]e
M (1
M= T3 IE()



 and [image: image14.png]



Alternative 2:
· When frequency hopping is enabled for PUSCH, if HARQ-ACK and CSI part 1 (without CSI part 2) are multiplexed on PUSCH without UL-SCH, the following equation is applied to split HARQ-ACK and CSI part 1 encoded bits between two PUSCH hops
· [image: image16.png].E‘“

6** (1) = N1Q,,




,  [image: image18.png]


[image: image19.png]


 
· [image: image21.png]G=TP(1) = Ny @, My — 67 (1)



,  [image: image23.png]G=TPN(2) = Ny Q, My — 677 (2)




· When frequency hopping is enabled for PUSCH, if HARQ-ACK, CSI part 1, and CSI part 2 are multiplexed on PUSCH without UL-SCH, the following equation is applied to split HARQ-ACK, CSI part 1, and CSI part 2 encoded bits between two PUSCH hops
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· If HARQ-ACK payload <= 2bits
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· If HARQ-ACK payload > 2bits
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where M1 and M2 is the numbers of available REs for 1st frequency hop and 2nd frequency hop, respectively, i.e., [image: image42.png]e
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